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[4] Find the x — intercepts of the function g(x) =3x"—-2x -2, ANSWER: 2 4
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ADDITIONAL QUESTIONS ON THE OTHER SIDE »



[5] A kitchen appliance manufacturing company determines that the total cost in dollars of producing X units of a blender is
C =25x+3500. Describe the practical significance of the C — intercept and slope of this line.
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[6] Evaluate p(x) =45—4x, —2 < x <3 at each specified value of the independent variable below.
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(8] Find the slope-point form of the equation of the line ANSWER: U+ g" s ~|12
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